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221, Math 101, Major Exam I
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7. The number of discontinuities of the function f(z) = z [z] on the interval et
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11. The number of points on the graph of f(z) = 73 + 4 having a tangent line parallel
to the line3z —y+2=0is
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13. If a ball is thrown into the air with a velocity of 4m/s, its height (in meters) £
seconds later is given by y = 4t — 4.92. The average velocity for the time period
fromt=1tot=3is
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17. If f(z) = —ze®, then fOU(1) =
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18. Which of the following statements is always true.

(a) lim f(z) = L means that for any given positive number ¢ we can find a positive
I—cC

number p such that |f(z) — L| < ¢ whenever 0 < |t —c| <p —______(correct)
(b) If f and g are functions such that g is continuous at c, then f(g(z)) is continuous
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